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Name: __________________________________



1
The expression [image: image1.png]o0 AJan - s W18



 simplifies to

	1)
	22.9

	2)
	48

	3)
	864

	4)
	3,456



2
Which number is the largest?

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






3
If [image: image6.png]fx) = x



, then [image: image7.png]


 is equal to

	1)
	8

	2)
	[image: image8.png]




	3)
	[image: image9.png]




	4)
	[image: image10.png]






4
The expression [image: image11.png]


 is equal to

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	16

	4)
	4



5
The expression [image: image14.png]


 is equivalent to

	1)
	1

	2)
	[image: image15.png]




	3)
	3

	4)
	[image: image16.png]






6
The value of [image: image17.png]-1



 is

	1)
	[image: image18.png]




	2)
	9

	3)
	[image: image19.png]




	4)
	[image: image20.png]






7
Find the value of [image: image21.png]G+ 20+ (x4 1)%



 when [image: image22.png]


.

8
Evaluate the expression [image: image23.png]1 E
G+ 2+ -+ (e D)



 when [image: image24.png]


.

9
Classical mathematics uses the term "Golden Ratio" for the ratio [image: image25.png]


.  The Golden Ratio was used by many famous artists to determine the dimensions of their paintings.  If the ratio of the length to the width of a painting is [image: image26.png]


, find the length, in feet, of a painting that has a width of 14 feet.  Express your answer in simplest radical form.

10
If [image: image27.png]a >0



, then [image: image28.png]Jog? + 16a*



 equals

	1)
	[image: image29.png]e





	2)
	[image: image30.png]




	3)
	[image: image31.png]5a





	4)
	[image: image32.png]Ta
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If [image: image33.png]x>0



, the expression [image: image34.png]


 is equivalent to

	1)
	[image: image35.png]Jax





	2)
	[image: image36.png]2x





	3)
	[image: image37.png]




	4)
	[image: image38.png]
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If x is a positive integer, [image: image39.png]Ax



 is equivalent to

	1)
	[image: image40.png]RS





	2)
	[image: image41.png]2x





	3)
	[image: image42.png]




	4)
	[image: image43.png]






13
The expression [image: image44.png]b2 b0



, is equivalent to

	1)
	[image: image45.png]




	2)
	[image: image46.png]




	3)
	[image: image47.png]




	4)
	[image: image48.png]






14
If [image: image49.png]>0



, the expression [image: image50.png]


 is equal to

	1)
	[image: image51.png]




	2)
	[image: image52.png]




	3)
	[image: image53.png]




	4)
	[image: image54.png]
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The expression [image: image55.png]


 is equivalent to

	1)
	[image: image56.png]20k





	2)
	[image: image57.png]




	3)
	[image: image58.png]4’ b





	4)
	[image: image59.png]ta
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The volume of a soap bubble is represented by the equation [image: image60.png]


, where A represents the surface area of the bubble.  Which expression is also equivalent to V?

	1)
	[image: image61.png]00944°





	2)
	[image: image62.png]00944°





	3)
	[image: image63.png]0.0944°





	4)
	[image: image64.png](0.09aa%)
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When simplified, the expression [image: image65.png]


 is equivalent to

	1)
	[image: image66.png]




	2)
	[image: image67.png]




	3)
	[image: image68.png]




	4)
	[image: image69.png]
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Which expression is equivalent to [image: image70.png]


?

	1)
	[image: image71.png]




	2)
	[image: image72.png]




	3)
	[image: image73.png]




	4)
	[image: image74.png]ab
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Which expression is equivalent to b in the equation [image: image75.png]


?

	1)
	[image: image76.png]




	2)
	[image: image77.png]




	3)
	[image: image78.png]




	4)
	[image: image79.png]B=







20
Simplify:  [image: image80.png]J50r2st





21
Simplify the expression [image: image81.png]


 and write your answer using a positive exponent.
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2
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2
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ANS:
4
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4
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